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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 428 10.9 3.7 20 54.5 59.9
2 589 10.6 3.5 20 53.1 82.4
3 413 11.8 3.8 20 58.9 57.8
4 213 5.7 2.6 12 47.1 29.8
5 399 7.2 2.1 12 60.3 55.8
6 99 6.6 2.3 12 54.8 13.8

SPaG 711 2.4 0.7 3 80.5 99.4
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Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Look at these two sources about changes in punishment in the late twentieth century and answer 
the question that follows.

Source A

© WJEC CBAC Ltd.

[From a school textbook]

Source B

[Minor offenders doing community service in 2008]

During the twentieth century there was a change in attitude towards 
the punishment of the most serious offenders. The Abolition of the 
Death Penalty Act in 1969 made life imprisonment the replacement for 
hanging.

3.



(4383-01) Turn over.
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Examiner

only
	 (b)	 Explain why attitudes to punishment had changed by the late twentieth century.	 [7]

		  [In your answer, you should use the information provided in the sources and your own 
knowledge to show the extent of change and the reasons for this]
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Sticky Note
Direct use of Source A. Uses content of Source A to develop the answer.

Sticky Note
Direct use of Source B. Hints at why attitudes towards punishment began to change but undeveloped.

Sticky Note
This response was awarded Level 2 3 marks. The candidate has produced a largely descriptive response with little attempt to explain why attitudes towards punishment had changed.





5

Sticky Note
This response was awarded Level 2 5 marks. The candidate uses the sources and provides additional knowledge. They begin to focus on the concept of change but the reasons for this could be developed more fully.

Sticky Note
Direct use of Source B. Knowledge added to develop the response. Begins to explain why attitudes towards punishment had changed by the late twentieth century.

Sticky Note
Direct use of Source A. The candidate uses knowledge to begin to develop the response.





Sticky Note
Excellent focus on why attitudes changed - a range of factors discussed, sources used explicitly and own knowledge. 

Sticky Note
This response was awarded Level 3 7 marks. The candidate focused sharply on why attitudes towards punishment changed. Several factors in bringing about change were discussed and there was explicit reference to the sources. Extensive use of additional knowledge as well.


Sticky Note
Direct use of Source B. Extensive use of own knowledge to develop the response. Several reasons offered for the change in attitudes towards punishment eg overcrowding in prisons.


Sticky Note
Direct use of Source A. Extensive use of additional knowledge to develop the answer. Clear attempt to explain why attitudes towards the death penalty changed.
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Question 3(b)  


 
Target:   Selection of knowledge; understanding of key concepts 


Mark allocation: AO1 AO2 AO3 


7 2 3 2 
 


Question:  Explain why attitudes to punishment had changed by the 
late twentieth century. [7] 


 
 Use 0 for incorrect or irrelevant answers. 
 
LEVEL 1 Generalised answer; paraphrases the sources; lacks focus on the set 


issue. [1–2] 
 
 e.g. Source A tells us about the abolition of the death penalty.  Source B 


shows us offenders doing community service. 
 
LEVEL 2 Accurate answer begins to address the question.  [3–5] 
 
 Answers worth 3 marks will use the sources and own knowledge to 


mostly describe the issue. 
 


e.g. People began to think that it was wrong to use the death penalty to punish 
people.  They began to look at other methods of punishing criminals such as 
community service. 


 


 Answers worth 4 or 5 marks will use the sources and own knowledge to 
try to focus on the concept of change or development.  (Reference to 
sources here may be implicit.) 


 


e.g. Source A tells us that in 1969, the death penalty was abolished and this 
resulted in an increase in the prison population.  Attitudes towards 
punishment were changing and other methods of punishing criminals now 
needed to be developed.  One solution to this is shown in Source B, 
community service.   


 
LEVEL 3 Answer addresses the question clearly. [6-7] 
 
 Answers worth 6 marks will use both the sources and own knowledge to 


explain the concept of change or development. 
 


 Answers worth 7 marks will use both the sources and own knowledge to 
explain the concept of change or development.  There must be explicit 
reference to both sources in order to gain this level. 


 


 e.g. Source A tells us that there was a change in attitude towards the death 
penalty in the C20th.  People believed that it was not right to take the life of 
another human being and that even the worst criminals could be reformed.  
After 1969, there was a growth in the number of serious offenders in prison 
and so there needed to be a change in the way that all offenders were 
punished to deal with this problem.  This led to the introduction of many 
different types of punishments as seen in Source B.  Other punishments 
included community service and probation.  As we try to rehabilitate 
offenders, punishments have changed to reflect this. 
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